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FHMEBERBRER KR

W R A D A RRLEER R H R 202443 H
7 S 4 : <V (50~150) RO IT 0 RWER () RBery—
MRk EE Mt TR (TR AR) R OB E & BB
®_ OB H H OB LA R B 5DV T R
RO o0 ok ' (ke/D 2.680 g | BB
JIS A 5006 O [Epses
ok # (%) 0.11 %)
kL 4y R B (%) JIS A 1103 - 300
T~ = (%) JISA 1121 — 250
7o E M (%) JISA 1122 - s | 200
I N 7] JIS A 1105 - 5)\ 150 100.0
%)
oo+ B &= (%) JIS A 1137 — g 100 62.5
JECRI TR S (N/em?) | JIS A 5006 8,184 R 60 1.9
50 0.0
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B 5D T RS R

L R 2 L A OMERERER
_Ooe F 5 ¢ <u#a(B0~150)
OB B B BT - IR TERTEHIPN (B B )
OB £ H H 202443 F 26 H
OB %5 T o KREEKGER Bt —
®oOBROFH . & W B
R e & 163.524 kg
Rkt H M FRBE =R JINFEFR Y 3% JINFE e R
(mm) (kg) (%) (%) (%)
500
400
300
250
200
150 0.000 0.0 0.0 100.0
100 61.292 37.5 37.5 62.5
80 51.911 31.7 69.2 30.8
60 47.179 28.9 98.1 1.9
50 3.142 1.9 100.0 0.0
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JIS A 5003

B MOl ERKRESIER

JIS A 5006
w4 A O ERAER
AR FF <SVH (50~150)

BB R B T

TSR i Em PN (BT ) 1 A7)

OB A H  2024%E3H27H
®_OB OB AT ARGER () W 2 —
OB & W&
L= NGYIATNE 4
fEATE (em) HE WokEDOERE| REE U INES
PRI
[ER2S e (g) (g) (g/cm?) (%)
1 5.01 10. 00 528. 1 528. 8 2. 679 0.13
2 5. 04 10. 01 534.3 534.9 2.675 0.11
3 5. 00 10. 05 530. 1 530. 6 2. 686 0. 09
ooy fE 2.680 0.11
L
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JIS A 5003

BEHMoEHERSHER

JIS A 5006
w4 A O ERAER
AR FF <SVH (50~150)

BB R B T

TSR i Em PN (BT ) 1 A7)

OB A H  2024%E3H27H
®_OB OB AT ARGER () W 2 —
OB & W&
L= NGYIATNE 4
fEATE (em) HE Rl vy JEAETR S
PRI
[ERRS o (g) (kN) (N/em?)
1 5.01 10. 00 528. 1 162 8234
2 5. 04 10. 01 534.3 154 7707
3 5. 00 10. 05 530. 1 169 8611
8184
ik
1kgf=9.80N

1kgf/cm=9.80N/cni
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